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What does the man mean?

A. He doesn't know the woman. B. He knows the woman before. C. He mistook the ' woman

for someone else.

2. Wt 71/

Where might the speakers be?

A. In a supermarket. B. In a restaurant. C. At home.

3. W /1

What will the woman probably do next?

A. Get some medicine for the man. B. Send the man to thehospital. C. Check out of the
hotel.

4. W J178

What does the woman suggest the man do?

A. Get a better job. B. Get his car repaired: C. Getarew car.
5. W /1

Why did the girl apologize to the mafi?
A. She didn't know where she.was going. B. She took the man's phone by mistake. C. She
bumped into the man carelessly.
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6. W 7178
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(6)’What does the manprefer?

A. Getting to the airport cheaply. B. Getting to the airport quickly. C. Getting to the
airport comfortably.

(7) Where will the man need to change the train?

A. On the left of the office. B. At Grove Street. C. At No. 12 subway station.

7. Wy J178

W&, BEEEE.

(8) How much does the man pay for car insurance?

A. $100 a month. B. $200 a month. C. $200 a year.

(9) What does the woman mean by saying "Men always cost more to insure than women"?

A. The man is a great driver. B. Men drive more carelessly than women. C. The man pays
too much money for insurance.

(10) What does the man think of the woman's driving?

A. She drives with care. B. Fewer accidents are her fault. C. Less driving frequency



